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CHEMISTRY

BOOKS - BEYOND PUBLICATION

CLASSIFICATION OF ELEMENTS THE PERIODIC
TABLE

1. Newlands proposed the law of octaves . Mendeleeff
suggested eight groups for elements in his table . How do
you explain these observations in terms of modern

periodic classification ?

| - |
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l & Watch Video Solution

2. Explain the similarities between the Newlands.

Mendeleeff and modern periodic table.

o Watch Video Solution

3. Correlate various tables proposed on classification of

elements.

o Watch Video Solution

4. What are the limitations of Mendeleev’s periodic table ?

How could the modern periodic table overcome the


https://dl.doubtnut.com/l/_MtvMWaWX4RwB
https://dl.doubtnut.com/l/_EIOAjMyJBNz3
https://dl.doubtnut.com/l/_ZRR9StMX1RrZ
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limitations of Mendeleev’s table?

o Watch Video Solution

5. Define the mordern periodic law . Discuss the

construction of the long form of the periodic table .

o Watch Video Solution

6. Which periodic table is able to explain properties of

element?Write its periodic law and explain the table.

o Watch Video Solution



https://dl.doubtnut.com/l/_YmkqZKwvFFKW
https://dl.doubtnut.com/l/_PRKfomTc3rZu
https://dl.doubtnut.com/l/_5FKfH4b0RbFs

7. What are the salient features of modern periodic table

?

° Watch Video Solution

8. Explain how the elements are classified into S. p .d and
f- block elements in the periodic table and give the

advantage of this kind of classification .

° Watch Video Solution

9. How does periodic table classified based upon the
entering of differentiating electron? Explain that

classfication. What is the advantage of such classification?


https://dl.doubtnut.com/l/_AHCfTQKe1lhP
https://dl.doubtnut.com/l/_ptyhGkNS8HB7
https://dl.doubtnut.com/l/_Nk0QjTFEGTml

o Watch Video Solution

10. Write down the characteristics of the elements having

atomic number 17. Electronic configuration

o Watch Video Solution

11. Write down the characteristics of the element having

atomic number 17.

Electronic configuration
Period number

Group number

Element family

No. of valence electrons
Valency

Metal or Non-metal

| D CERS

o Watch Video Solution
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12. Write down the characteristics of the elements having

o Watch Video Solution

13. Write down the characteristics of the elements having

atomic number 17. Element family.............

o Watch Video Solution

14. Write down the characteristics of the elements having

atomic number 17. No.of valence electrons............

o Watch Video Solution



https://dl.doubtnut.com/l/_4t8L65CKdIBr
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15. Write down the characteristics of the elements having

atomic number 17. Valency..............

o Watch Video Solution

16. Write down the characteristics of the elements having

atomic number 17. Metal or non-meta....................

o Watch Video Solution

17. Why was the basis is classificatons of elements

changed from the atomic mass to the atomic number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_A2PtKn4z1GV5
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18. Why was the basis is classificatons of elements

changed from the atomic mass to the atomic number ?

o Watch Video Solution

19. Which atomic property is more suitable for

classification of elements ? Why ?

o Watch Video Solution

20. What is a periodic property? How the following
properties vary in a group and in a period? Expain

(a) Atomic radius.

o Watch Video Solution



https://dl.doubtnut.com/l/_gDTsCdF6lWx1
https://dl.doubtnut.com/l/_Lafrak2XKKWx
https://dl.doubtnut.com/l/_iSLZFYPPvIyt

21. What Is a periodic property ? How do the following
properties change in a group and period ? Explain .

lonization enery

o Watch Video Solution

22. What Is a periodic property ? How do the following
properties change in a group and period ? Explain .

Electron affinity

o Watch Video Solution



https://dl.doubtnut.com/l/_iSLZFYPPvIyt
https://dl.doubtnut.com/l/_ryzPxLa9kQl7
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23. What is a periodic property? How the following
properties vary in a group and in a period? Explain

(b) EN.

o Watch Video Solution

24. Explain the ionizaton energy order in the following
sets of elements :

Na,Al,Cl

o Watch Video Solution

25. Explain the ionizaton energy order in the following

sets of elements :


https://dl.doubtnut.com/l/_2Fc9PsPYKthq
https://dl.doubtnut.com/l/_KFQme9GQNFZh
https://dl.doubtnut.com/l/_OgEhwwOcrZYp

Li ,Be,B

o Watch Video Solution

26. Explain the ionizaton energy order in the following
sets of elements :

CN,O

o Watch Video Solution

27. Explain the ionizaton energy order in the following
sets of elements :

F.Ne ,Na

o Watch Video Solution



https://dl.doubtnut.com/l/_OgEhwwOcrZYp
https://dl.doubtnut.com/l/_9veWGnyyk4Dz
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28. Explain the ionizaton energy order in the following
sets of elements :

Be ,Mg ,Ca

o Watch Video Solution

29. Given below is the electronic configuration of
elements A,B,C,D.
1s22s?

Which are the elements coming with in the same period?

o Watch Video Solution



https://dl.doubtnut.com/l/_YIAe9XRumeZp
https://dl.doubtnut.com/l/_XYKLFrFtOA3O

30. Given below is the electronic configuration of element.
15225%2p°3s2.

Which are the elements coming in the same group ?

O Watch Video Solution

31. Given the electronic configuration of element
1s225%2p°3s%3p®

Which are the elements coming in the same group ?

o Watch Video Solution

32. Given the electronic configuration of elements .

1s225%2p°


https://dl.doubtnut.com/l/_flg0fG2FaEq8
https://dl.doubtnut.com/l/_noOLw3QMGS1u
https://dl.doubtnut.com/l/_g1UvY5fyGZme

To which group and period does the elements belong ?

o Watch Video Solution

33. Elments in a group generally possess similar
properties , but elements along a period have different

properties .How do you explain this statement ?

o Watch Video Solution

34. Elments in a group generally possess similar
properties , but elements along a period have different

properties .How do you explain this statement ?

o Watch Video Solution



https://dl.doubtnut.com/l/_g1UvY5fyGZme
https://dl.doubtnut.com/l/_TK1m9x4oSNwC
https://dl.doubtnut.com/l/_GcdY9hDn7Dwa

35. S- block and p - block elements except 18 th group
elements are sometimes called as 'Representative
elements based on their abundant avilability in the

nature. Is it justifed ? Why ?

° Watch Video Solution

36. The electronic configuration of the elements, X, Y and
Z are given below. A) X=2, B) Y=2,6, C) Z=2,8,3, Which

element belongs to second group?

° Watch Video Solution



https://dl.doubtnut.com/l/_XIwHLqEe6HYX
https://dl.doubtnut.com/l/_KDwMjY6JzD6g

37. The electronic configuration of the elements, X, Y and
Z are given below. A) X=2, B) Y=2,6, C) Z=2,8,3, Which

element belongs to second group?

° Watch Video Solution

38. The electronic configuration of the elements, X, Y and
Z are given below. A) X=2, B) Y=2,6, C) Z=2,8,3, Which

element belongs to second group?

° Watch Video Solution

39. Identify the element that has the larger atomic radius

in the given pair of elements and mark it with a symbol.


https://dl.doubtnut.com/l/_Gbx2Cgurj6m1
https://dl.doubtnut.com/l/_KZH1d67VltTG
https://dl.doubtnut.com/l/_L3GkaV3ynhN8

Mg or Ca

o Watch Video Solution

40. Identify the element that has the larger atomic radius
in each pair of the following and mark it with a symbol.

Li or Cs

o Watch Video Solution

41. Identify the element that has the larger atomic radius
in each pair of the following and mark it with a symbol.

N or P

o Watch Video Solution



https://dl.doubtnut.com/l/_L3GkaV3ynhN8
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42.|dentify the element that has the larger atomic radius
in each pair of the following and mark it with a symbol.

B or Al.

o Watch Video Solution

43. Identify the element that has the lower ionization
energy in each pair of the following and mark it with a
symbol.

Mg or Na

o Watch Video Solution



https://dl.doubtnut.com/l/_lOI7qiN0nyba
https://dl.doubtnut.com/l/_efQ3sPzj43tD

44. |dentify the element that has the lower ionization

energy in each pair of the following and mark it with a

symbol.

LiorO

o Watch Video Solution

45. |dentify the element that has the lower ionization

energy in each pair of the following and mark it with a

symbol.

BrorF

o Watch Video Solution



https://dl.doubtnut.com/l/_Mw3BSkg1qZmZ
https://dl.doubtnut.com/l/_4b2IfGz4cPFh

46. |dentify the element that has the lower ionization

energy in each pair of the following and mark it with a

symbol.

K or Br

o Watch Video Solution

47. How does metallic character change when we move

Down a group ?

o Watch Video Solution

48. How does metallic character change when we move

Across a period ?


https://dl.doubtnut.com/l/_qhNzPYayntFt
https://dl.doubtnut.com/l/_jz9S28zVI7rC
https://dl.doubtnut.com/l/_MlyYLjqHB4pr

o Watch Video Solution

49. Name two elements that you would expect to have
chemical properties similar to Mg . What is the basis for

your choice ?

o Watch Video Solution

50. On the basis of atomic numbers predict to which block
the elements with atomic number 9 , 37 ,46 and 64

belongs to ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MlyYLjqHB4pr
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https://dl.doubtnut.com/l/_nRum88MJdZV9

51. On the basis of atomic numbers predict to which block
the elements with atomic number 9 , 37 ,46 and 64

belongs to ?

° Watch Video Solution

52. Using the periodic table , predict the formula of
compound formed between element x group 13 and

another element Y of group 16.

° Watch Video Solution

53. An element X belongs to 3 rd period and Group 2 of

the periodic table . State ( a) The no . Of valence electrons


https://dl.doubtnut.com/l/_avx78yaDKgFZ
https://dl.doubtnut.com/l/_97Ipt33hNHcp
https://dl.doubtnut.com/l/_WSnaVj3WgjIG

(b ) The valency (c ) Whether it is metal or a non- metal

o Watch Video Solution

54. An element has atomic number 19. where would you

expect this element in the periodic table and Why ?

o Watch Video Solution

55. How do you appreciate the role of electronic
configuration of the atoms of elements in periodic

classification ?

o Watch Video Solution



https://dl.doubtnut.com/l/_WSnaVj3WgjIG
https://dl.doubtnut.com/l/_sdb7Fg3l2bhT
https://dl.doubtnut.com/l/_Q6ERBL5pZEu8
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56. Explain the construction of periods in Modern periodic

table.

o Watch Video Solution

57. How do you appreciate the Planck?

o Watch Video Solution

58. Without knowning the electronic configurations of the
above of the atoms of elements Mendeleeff still Could
arrange the elements nearly close to the arrangements in

the modern periodic table . How can you appreciate this ?

o Watch Video Solution



https://dl.doubtnut.com/l/_t36lAJodQYtj
https://dl.doubtnut.com/l/_8aierp2wgrbw
https://dl.doubtnut.com/l/_69sHWCyqCpad

59. How can you appreciate Mendeleeff in arrangement of

elements with electronic configuration ?

o Watch Video Solution

60. Comment on the position of hydrogen in periodic

table.

o Watch Video Solution

61. How do the positions of elements in the periodic table
help you to predict its chemical properties ? Explain with

and example.



https://dl.doubtnut.com/l/_69sHWCyqCpad
https://dl.doubtnut.com/l/_n4ohSA3ZoDHw
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l o Watch Video Solution

62. In period 2 element X is to the right of element Y .
Then , find which of the element have :

Low nuclear charge

o Watch Video Solution

63. In period 2 element X is to the right of element Y .
Then , find which of the element have :

Low atomic size

o Watch Video Solution



https://dl.doubtnut.com/l/_KAm8MoKlpq1q
https://dl.doubtnut.com/l/_J0BHqTzZwaHz
https://dl.doubtnut.com/l/_bTIm297g5TXX

64. In period 2 element X is to the right of element Y .
Then , find which of the element have :

High ionization energy

° Watch Video Solution

65. In period 2 element X is to the right of element Y .
Then , find which of the element have :

High electronegativity

° Watch Video Solution

66. In period 2 element X is to the right of element Y .

Then , find which of the element have :


https://dl.doubtnut.com/l/_HNXzUi0WxVq3
https://dl.doubtnut.com/l/_HcHsiRoBWRek
https://dl.doubtnut.com/l/_MxVWTS9EOavp

More metallic character

o Watch Video Solution

67. Aluminium does not react with water at room
temperature but reacts with both dil . Hcd and NaOH
solutions . Verify these statements experimentally . Write
your observation with chemiscal equation , From these

observations , can we concluds that Al is a metalloid ?

o Watch Video Solution

68. How can you explain Aluminium (Al) is a metalloid with

chemical equations ?

[ o Wiak . \tdaa Al ikiam


https://dl.doubtnut.com/l/_MxVWTS9EOavp
https://dl.doubtnut.com/l/_5MEqEMmPOeDS
https://dl.doubtnut.com/l/_6nxjZMm8TLB2

L ¥vdtilll VIUCV JVIVULIVI J

69. Collect the information about reactivity of VIIA group
elements ( noble gases ) from internet or from your
school liberary and prepare a report in their special
character when compared to other elements of periodic

table .

o Watch Video Solution

70. Collect information regarding metallic character of
elements of IA group and propare report to support the
idea of metallic character increases in a group as we move

from top to bottom .

I o Watch Video Solution


https://dl.doubtnut.com/l/_6nxjZMm8TLB2
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https://dl.doubtnut.com/l/_In5AYCwPFXMw

71. Observe the following table and Fill it .

Group Elements and their Atomic weight Arithinetic mean 7’
1* and 3™ eleme;
Atomic weight
| 7.0+39.0 W

T

A Lithium (Li) : Sodium (Na) ! Potassium (K) ‘ ——2—-—— =23.0= 23\;
7.0 | 230 | 390 L !
('B Calcium (Ca) | Strontium(Sr} | Barium (Ba) i 40 +137 _ 88.5 ~ 87.5
40.0 | 87.5 | 137.0
[ C 1 Chlorine (Cl) | Bromine (Br) lodine (I) } 3545_;7127’0 = 81.25
t 35.5 | 80.0 L1270 | ~ 80
D | Sulphur (S) \ Selenium (Sc) Tellurium (Te) | 321125 = 78.5 =78
32.0 } 78.0 120 | 2
E Manganese(Mn)‘ Chromium(Cr) | Iron (Fe) _‘T 55.0 + 56.0 =55.5 =52
55.0 | 52.0 | 560 2

|
|

Observations :

Can you establish the same relationship with the set of

elements given in the remaining rows ?

o Watch Video Solution



https://dl.doubtnut.com/l/_In5AYCwPFXMw
https://dl.doubtnut.com/l/_XTkuS197unqx

72. Observe the following table and Fill it .

e Sodium (Na)

\" k Potassium (K)
B 250 39.0
Q;’f}a) Strontium(Sr) Barium (Ba)
Tl 87.5 137.0
ne (Cl) Bromine (Br) Todine (1)
B | s00 127.0
ar (S) Selenium (Se) | Tellurium (Te)
B 750 125.0
1 Chromlum(Cr) Iron (Fe)
56.0

Observations :

Find average atomic weights of the first and third

elements in each row and compare it with the atomic

Ez.o

weight of the middle element.

o Watch Video Solution



https://dl.doubtnut.com/l/_eiJ5XS4F5JE8

73. Describe an activity to observe the reaction of metal

oxides with acids. What do you observe ?

° Watch Video Solution

74. What is atomic number? Write its significance.

° Watch Video Solution

75. Consider the following elements of third period of

modern periodic table :

Period IIT elements  Na Mg Al Si P S C(Cl Ne
Atomic number 11 12 13 14 15 16 17 18

How does valency very in a period on going from left to

right ?


https://dl.doubtnut.com/l/_n6sT3TPqPNFu
https://dl.doubtnut.com/l/_4aG5UQ8Q4c4e
https://dl.doubtnut.com/l/_erSyFzmwF5Md

o Watch Video Solution

76. How does the valency vary on going down a group ?

o Watch Video Solution

77.D0 the atom of an element and its ion have same size

o Watch Video Solution

78. Which one between Na and Na ™ would have more

size ?

[ o Wiadk . \tdaa CAliiktam
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79. Which one between Cl and Cl~ would have more size

? Why ?

° Watch Video Solution

80. Which one in each of the following pairs is larger in
size ?

Na, Al

° Watch Video Solution



https://dl.doubtnut.com/l/_nRBjNxTu8ZyA
https://dl.doubtnut.com/l/_3c8BskezvLVm
https://dl.doubtnut.com/l/_johBWh8ZfdBC

81. Which one in each of the following pairs is larger in
size ?

Na, Mg™*2

o Watch Video Solution

82. Which one in each of the following pairs is larger in

size? S2~ 01~

o Watch Video Solution

8. Which one in each of the following pairs is larger in

size? Fe? + ', Fe® +

I o Watch Video Solution


https://dl.doubtnut.com/l/_TcweCh1vEcV2
https://dl.doubtnut.com/l/_RRIOIzCBOrEQ
https://dl.doubtnut.com/l/_VpMOaT12dhZo

84. Which one in each of the following pairs is larger in

size? C*~,F .

o Watch Video Solution

85. Observe the following table and Fill it .

Group Elements and their Atomic weight Arithmetic mean 7
1* and 3™ element
Atomic weight

T 1 . 7.0 +39.0 \
A Lithium (Li) : Sodium (Na) Potassium (K) ——2—- =23.0=23 ;
7.0 l230 [ 390 | !
m Calcium (Ca) Strontium(Sr) | Barium (Ba) ‘ 40 +137 _ 88.5 ~ 87.5
l 40.0 | 875 | 137.0
T C 1 Chlorine (Cl) | Bromine (Br) lodine (I) | 35.5+127.0 _ g 25
l 35.5 | 80.0 | 1270 | 2 ~ 80
D | Sulphur (S) | Selenium (5S¢} Tellurium (Te) | 32+125 = 78.5 =78
32.0 | 78.0 250 | 2
E Manganese(Mn)‘ Chromium(Cr) 1 tron (Fe) T‘ 55.0 + 56.0 = 55.5 =52
55.0 | 52.0 | 560 ‘.\ 2

Observations :


https://dl.doubtnut.com/l/_VpMOaT12dhZo
https://dl.doubtnut.com/l/_fPDCbqndQNlk
https://dl.doubtnut.com/l/_ZliSnrhxSALq

Can you establish the same relationship with the set of

elements given in the remaining rows ?

o Watch Video Solution

86. Observe the following table and Fill it .

Sodium (Na) Potassium (K)
23.0 39.0
Strontium(Sr) Barium (Ba)
87.5 137.0

Bromine (Br) Iodine (I)
80.0 1270,
Selenium (Se) Tellurium (Te)
78.0 125.0
Chromlum(Cr) Iron (Fe)

52.0 56.0

Observations :
Find average atomic weights of the first and third
elements in each row and compare it with the atomic

weight of the middle element.



https://dl.doubtnut.com/l/_ZliSnrhxSALq
https://dl.doubtnut.com/l/_v9kYLaKeac8z

| €@ Watch Video Solution

87. Describe an activity to observe the reaction of metal

oxides with acids. What do you observe ?

o Watch Video Solution

88. Some main group elements of s-block and p-block have
family names as given in the following table. Observe the
long from of a periodic table and complete the table with

proper information.

o Watch Video Solution



https://dl.doubtnut.com/l/_v9kYLaKeac8z
https://dl.doubtnut.com/l/_3S1J5pPk8tUi
https://dl.doubtnut.com/l/_AH46Qvdg6Zko

89. Find out the valencies of first 20 elements.

o Watch Video Solution

90. Consider the following elements of third period of

modern periodic table :

Period IIT elements @ Na Mg Al Si P S C(Cl Ne
Atomic number 11 12 13 14 15 16 17 18

How does valency very in a period on going from left to

right ?

o Watch Video Solution

91. How does the valency vary on going down a group ?

I o Wiak~h \tAdAaA CAaliikian



https://dl.doubtnut.com/l/_LkLmByGIosmD
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92. What relation about elements did dobereiner want to

establish ?

o Watch Video Solution

93. The densities of calcium (ca ) and barium (Ba ) are 1.55

and 351 g em 3

respectively based on Dobereiner's law
of triads , can you give the approximate density of

strotium (Sr) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_WQsNgBtDXCEr
https://dl.doubtnut.com/l/_K0bhPhgZxuf0
https://dl.doubtnut.com/l/_joKZJtvZ4ArB

94. Do you know why Newlands proposed the law of
octaves ? Explain your answer in terms of the modern

structure of the atom..

o Watch Video Solution

95. Do you think Newland's law of octaves is correct ?

Justify .

o Watch Video Solution

96. Why did Mendeleeff had to leave certain blank spaces

in his periodic table ? What is your explanation for this ?

I o Watch Video Solution


https://dl.doubtnut.com/l/_93e7ULh6uhtu
https://dl.doubtnut.com/l/_xIngJ0pQjmXX
https://dl.doubtnut.com/l/_oncOAoj184Vl

97. What is your understanding about Ea,0O3, EsO- ?

o Watch Video Solution

98. All akali metals are solids but hydrogen is a gas with
diatomic molecules . Do you justify the inclusion of

hydrogen in first group with alkali metals ?

o Watch Video Solution

99. Why are lanthanides and actinides placed separately

at the bottom of the periodic table ?

[nlllll\'°lnl n®


https://dl.doubtnut.com/l/_oncOAoj184Vl
https://dl.doubtnut.com/l/_1eESkmcSdHlb
https://dl.doubtnut.com/l/_piKw55D6TV6C
https://dl.doubtnut.com/l/_jIlUhmZn9u97
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100. IF lanthanides and actinides are inserted within the

table . Imagine how the table would be ?

o Watch Video Solution

101. Second ionization energy of an element is higher

than its first ionization energy Why ?

o Watch Video Solution

102. The calculated electron gain enthaly values for

alkaline earth metals and noble gases are positive . How


https://dl.doubtnut.com/l/_jIlUhmZn9u97
https://dl.doubtnut.com/l/_UU4UoE7aSrX8
https://dl.doubtnut.com/l/_xtkjYpakR1Rz
https://dl.doubtnut.com/l/_uY9CtX9LRRDA

can you explain this ?

o Watch Video Solution

103. The second period element , for example , for
example 'F' has less electron gain enthyalpy than the third

period element of the same group of example'Cl' . Why ?

o Watch Video Solution

104. On which side of the periodic table do you find (i)

Metals (ii) Non-metals ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uY9CtX9LRRDA
https://dl.doubtnut.com/l/_8V7u8JrPr1dS
https://dl.doubtnut.com/l/_D3c8cERmWvFH
https://dl.doubtnut.com/l/_k6JmeCOFrDex

105. How does tendency to gain electrons vary as we move

down the group ?

° Watch Video Solution

106. What are the limitations of Dobereiner's law to triads

° Watch Video Solution

107. What is Mendeleeffs periodic law?

° Watch Video Solution



https://dl.doubtnut.com/l/_k6JmeCOFrDex
https://dl.doubtnut.com/l/_kFdOEY0uDKCr
https://dl.doubtnut.com/l/_Kmhq8UjgGU6U

108. Write modern periodic law .

o Watch Video Solution

109. "Be" differs from rest of the elements of the IIA group

due to

o Watch Video Solution

110. Nitrogen (Z=7) is the element of group V of the
periodic table. Which of the following is the atomic

number of the next element in the group ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eBxgB7OTo6Qy
https://dl.doubtnut.com/l/_a4rOVc20nqLi
https://dl.doubtnut.com/l/_ZKPRyvSnehxo

111. Lanthanoids are

o Watch Video Solution

112. What are actioniods ?

o Watch Video Solution

113. Define valaency .

o Watch Video Solution

114. Unit of atomic radius :

| &


https://dl.doubtnut.com/l/_jhe6MRKzrn41
https://dl.doubtnut.com/l/_Otelh86Cyz0O
https://dl.doubtnut.com/l/_WJcpQtMpmkJo
https://dl.doubtnut.com/l/_huwRXvvyoX21

[ W Watch Video Solution ]

115. The unit for ionisation energy is

o Watch Video Solution

116. Write the formula proposed by Mulliken to measure

electronegativity.

o Watch Video Solution

117. What is Dobereiner triad ? Give two example to it.

o Watch Video Solution



https://dl.doubtnut.com/l/_huwRXvvyoX21
https://dl.doubtnut.com/l/_YqAwCSV9it9T
https://dl.doubtnut.com/l/_k0toKw84W2GJ
https://dl.doubtnut.com/l/_dTC1U3eemi9Z
https://dl.doubtnut.com/l/_KUPgFTEEak7p

118. Do you think Newland's law of octaves is correct ?

Justify .

° Watch Video Solution

119. What is Mendeleeffs periodic law?

° Watch Video Solution

120. What is valency?

° Watch Video Solution

121. Write modern periodic law .


https://dl.doubtnut.com/l/_KUPgFTEEak7p
https://dl.doubtnut.com/l/_hepy11cCwtpP
https://dl.doubtnut.com/l/_MD0ompUOXsrN
https://dl.doubtnut.com/l/_wstkmPgBpaaA

o Watch Video Solution

122. What is the name given to | (A) group elements ?

o Watch Video Solution

123. What are halogens ?

o Watch Video Solution

124. What are noble gases ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wstkmPgBpaaA
https://dl.doubtnut.com/l/_TdqmVPKW03Q5
https://dl.doubtnut.com/l/_5WroAMcjRpkP
https://dl.doubtnut.com/l/_4SxNyoGeWVoS
https://dl.doubtnut.com/l/_4KXc5msDGj3h

125. What are lanthanides and actinides? Where are they

located in the long from of the periodic table?

° Watch Video Solution

126. What are Actinides ?

° Watch Video Solution

127. What are metals and non - metals ?

° Watch Video Solution

128. What are metalloids ?



https://dl.doubtnut.com/l/_4KXc5msDGj3h
https://dl.doubtnut.com/l/_v03OgNVAOAZb
https://dl.doubtnut.com/l/_sspfzjEQ9CqX
https://dl.doubtnut.com/l/_HF8fh1GQpVje

I o Watch Video Solution

129. What is electronegativity?

o Watch Video Solution

130. What is electropositive character ?

o Watch Video Solution

131. Which group elements are called Boron family ?

o Watch Video Solution



https://dl.doubtnut.com/l/_HF8fh1GQpVje
https://dl.doubtnut.com/l/_6jxhHaRvmbUe
https://dl.doubtnut.com/l/_qzOrWvN2nqM3
https://dl.doubtnut.com/l/_NY8OJ3NIcarR
https://dl.doubtnut.com/l/_IdeaFCauBEgP

132. What do you know from Dobereiner's triads ?

o Watch Video Solution

133. What are the properties of isolated atoms of

elements ?

o Watch Video Solution

134. Why the second lonization energy is more than the

first ionization energy for any element ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IdeaFCauBEgP
https://dl.doubtnut.com/l/_nlvf5XTODqr5
https://dl.doubtnut.com/l/_MLqPPY44ViOM

135. Name the first and last elements of Lanthanides.

o Watch Video Solution

136. Name the first and last elements of Actinides.

o Watch Video Solution

137. Besides gallium, which other elements have since
been discovered that were left by Mendeleev's in his

Periodic Table ? (any two)

o Watch Video Solution



https://dl.doubtnut.com/l/_DJNFIxtGYoQu
https://dl.doubtnut.com/l/_qjXm8fVUu0FW
https://dl.doubtnut.com/l/_05z1SVCYhN3F
https://dl.doubtnut.com/l/_3FfHz7WuWdyf

138. In the Modern Periodic Table, which are the metals

among the first ten elements ?

o Watch Video Solution

139. Give the name and electronic configuration of third

alkali metal.

o Watch Video Solution

140. What is the similarity in the electronic configuration

of Mg Ca and Sr ?

o Watch Video Solution



https://dl.doubtnut.com/l/_3FfHz7WuWdyf
https://dl.doubtnut.com/l/_tSWcLIUGQ1QR
https://dl.doubtnut.com/l/_suvpCuRIgH9w
https://dl.doubtnut.com/l/_sTrJTcLtfM0t

141. Write the elements in the ascending order of their

atomic radii

2nd period elements | B Be 0 N Li C
Atomic radii B8 | 111 | 66| 74 | 152| 77

o Watch Video Solution

142. Did Dobereiner's traids also exist in the columns of

Newlands's Octaves ? Compare and find out.

o Watch Video Solution

143. If an element X is placed in group 14, what will be

formula and the nature of bonding of its chloride ?

I o Watch Video Solution


https://dl.doubtnut.com/l/_sTrJTcLtfM0t
https://dl.doubtnut.com/l/_XLfYK3djtLlP
https://dl.doubtnut.com/l/_1vLCjVVwvDMd

144. Are zero group elements and VIII group elements are

same ?

o Watch Video Solution

145.The inner transition elements are __ elements.

o Watch Video Solution

146. Which pair of elements belongs to the same group ?

(atomic numbers are given)

o Watch Video Solution



https://dl.doubtnut.com/l/_1vLCjVVwvDMd
https://dl.doubtnut.com/l/_R6wJjuiDdJ9c
https://dl.doubtnut.com/l/_OaiqXmBstAsz
https://dl.doubtnut.com/l/_9lBP0SmDIVcx

147. Atomic radius of hydrogen is 37 pm. Express the same

in metres.

o Watch Video Solution

148. The formula of a metal oxide Is MO. Then write the

formula of its chloride.

o Watch Video Solution

149. The electronic configuration of an element is 2,8,6.
Identify the element and name of the family to which it

belongs.

[ - |


https://dl.doubtnut.com/l/_9lBP0SmDIVcx
https://dl.doubtnut.com/l/_ymrmiZLm5X0a
https://dl.doubtnut.com/l/_3yaceMb4HBbp
https://dl.doubtnut.com/l/_AQdo8yZliz5D

l & Watch Video Solution

150. How do metallic and non-metallic charcters vary in a

group and period ?

o Watch Video Solution

151. Give example where the electronic configuration of an
element does not justify its inclusion in a block of

element.

o Watch Video Solution



https://dl.doubtnut.com/l/_AQdo8yZliz5D
https://dl.doubtnut.com/l/_mJbz4BwlismF
https://dl.doubtnut.com/l/_PxbBaXNyWyFe

152. How many elements are present in IlIB group of the

long form of the periodic table ?

o Watch Video Solution

153. What do you mean by screening effect ?

o Watch Video Solution

154. Arrange the elements B, N, Be and O in the increasing

order of their ionization potentials.

o Watch Video Solution



https://dl.doubtnut.com/l/_1YIans9OcTds
https://dl.doubtnut.com/l/_LBs9PZeV2tRx
https://dl.doubtnut.com/l/_nMzDshTOXHU2
https://dl.doubtnut.com/l/_IDDuZzeSvESV

155. What is meant by first ionization energy ?

o Watch Video Solution

156. What is meant by second ionization energy ?

o Watch Video Solution

157. Give the outer orbits general electronic configuration

of the following types of elements . (a) Noble gases

o Watch Video Solution



https://dl.doubtnut.com/l/_IDDuZzeSvESV
https://dl.doubtnut.com/l/_L7VRVPLfx6UO
https://dl.doubtnut.com/l/_aMUCM9CO4ikR

158. Give the outer orbit general electronic configuration
of

(b) Representative elements

° Watch Video Solution

159. Give the outer orbits general electronic configuration

of the following types of elements .(c) Transition elements

° Watch Video Solution

160. Give the outer orbits general electronic configuration
of the following types of elements . (d) Inner transition

elements .


https://dl.doubtnut.com/l/_94NdrtT8468M
https://dl.doubtnut.com/l/_vf3s1En9QkMb
https://dl.doubtnut.com/l/_A0F48E27OHHa

o Watch Video Solution

161. What is a triad?

o Watch Video Solution

162. Chlorine bromine , iodine are Dobereiner's triads

How do you justify ?

o Watch Video Solution

163. Why are lanthanides and actinides placed separately

at the bottom of the periodic table ?

[ o Wiadk .\t daa Al ikt am


https://dl.doubtnut.com/l/_A0F48E27OHHa
https://dl.doubtnut.com/l/_9orfGG6hq60l
https://dl.doubtnut.com/l/_dIjh6ZPU75Sa
https://dl.doubtnut.com/l/_lkjkkBHV740X

L ¥vdtilll VIUCV JVIVULIVI J

164. Second ionization energy of an element is higher

than its first ionization energy Why ?

° Watch Video Solution

165. What is screening effect? How is it related to IE?

° Watch Video Solution

166. What is electronegativity ? What are various methods

used to determine electro- negativity ? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_lkjkkBHV740X
https://dl.doubtnut.com/l/_FPpcSLtruh3Q
https://dl.doubtnut.com/l/_srxgj5tPmizz
https://dl.doubtnut.com/l/_U6FmViREU3ju

167. Explain the limiation of Mendeeff's periodic table .

° Watch Video Solution

168. How are the elements divided into s, p, d and f -

blocks in the Modern periodic table ?

° Watch Video Solution

169. Why did Mendeleeff had to leave certain blank spaces

in his periodic table ? What is your explanation for this ?

° Watch Video Solution



https://dl.doubtnut.com/l/_U6FmViREU3ju
https://dl.doubtnut.com/l/_OB67UOphlAL4
https://dl.doubtnut.com/l/_PAVKx8VtlkEq
https://dl.doubtnut.com/l/_5W5ozv22cDXd
https://dl.doubtnut.com/l/_CQxklvKt4t8w

170. An element has atomic number 19. Where would you

expect this element in the period table and why ?

o Watch Video Solution

171. Differentiate the metals and non - metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_CQxklvKt4t8w
https://dl.doubtnut.com/l/_nl6Fl3HeL3MK

172.

1 18
1& N - A
~— 2 . : - 1314 15 16 l'i"wﬁm
1] Jna fIIA IVA VA VIAVIIA
2| |Be '
3456 7 89101112
3 | X M8l v vB VIS VIB VIB VI VIE_B_1B
4| |Ca P|Q|R
6| [Ba 1
7| |Ra
6
? -

Write the

name and oxidation state of X.

o Watch Video Solution



https://dl.doubtnut.com/l/_DrVRIrmRDF9E

173.

18
flAf0

e

. . . i
2 . . - 13 14 15 16 17

A A IVA VAVIAVI

Be ‘ r
34 5 6 7 8 9101112
I0B VB VB VIB VIIB VIIB VUIB VIiB_1 b
PIQ|R

ST T T B -SR SO C R
1%

=]

. | " Which

elements are in same period and same group ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VF8fUqFHGask

174.

e

A
Be

345867 89101112
IIIB IVB VE VIB VIIB VIIB VIIB VIB 5 _IB

A TVA VAVIAVI

18

" VHIAJO
- 13 14 15 16 17

{

PIOIR

1L

-1 @ U s B e
1%

=]

missing element in IIA group ?

What is the

o Watch Video Solution

175. lonization potential curve is the graph of atomic

number versus ionization energy in KJ/Moie. The IP curve

is given for elements upto Z = 30.


https://dl.doubtnut.com/l/_qR3h9s4EYDEd
https://dl.doubtnut.com/l/_cJ8MGLYUIUm5

In the graph identify the representative elements with the

highest and lowest IP values.

He Ne :ﬁ.r
25004+ &
2000+
o \ Zn
[=]
= 15004
" 0
L
= 10004 N
500 { B
Li !
Ma K
+ i }
10 20 30
Atomic Number (Z)
A. 1. He, K
B. 2. Li, Ar
C.3.K, He
D.4.Zn, Ar

Answer:



https://dl.doubtnut.com/l/_cJ8MGLYUIUm5

l o Watch Video Solution

176. Give reason for the need of classification of element .

o Watch Video Solution

177. Do you think Newland's law of octaves is correct ?

Justify .

o Watch Video Solution

178. The second period element 'F' has electrons gain
enthaly than the third period elements of same group 'Cl’

Why ?


https://dl.doubtnut.com/l/_cJ8MGLYUIUm5
https://dl.doubtnut.com/l/_wfIf8pLHecJH
https://dl.doubtnut.com/l/_dDZUeXNUdVO5
https://dl.doubtnut.com/l/_cFPTTvOeK4kP

o Watch Video Solution

179. x,y and z are the elements of a Dobereiner 's tried .If
the atomic mass of 'z’ is 7 and that of 'z' in 39. what

should be the atomic mass of the 'y' ?

o Watch Video Solution

180. What changes do you observe in the metallic

properties of the elements when moved from left to

Li| Be| B| c | N| O
Naf Mg| Al| si| P| s| o

m

right?

o Watch Video Solution



https://dl.doubtnut.com/l/_cFPTTvOeK4kP
https://dl.doubtnut.com/l/_edh8i5ZjjzmN
https://dl.doubtnut.com/l/_mBF9FEA3DEXY

181. Why were Dobereiner , Newlands and Mendeleeff not
100 % successful in their classfication of elements ? Why
is the modern table table relatively a better classification

? Predict the reason .

° Watch Video Solution

182. Observe the electronic condigurations given below
and write the group and period numbers of those

elements .

1s 2s 2p 3s 3p

N [0 [ (1] [T

o Watch Video Solution



https://dl.doubtnut.com/l/_5sUA0AF36zyn
https://dl.doubtnut.com/l/_89xXOf8mCxSu
https://dl.doubtnut.com/l/_n9jRg3ao9nHs

183. The Atomic number of an element is 35 where would
you expect the position of this element in the periodic

table ? Why ?

o Watch Video Solution

184. Between a neutral atom and its cations which has

bigger size ? Why?

o Watch Video Solution

185. Explain the salient features and achievements of the

Mendeleeff’s periodic tble.

o Watch Video Solution



https://dl.doubtnut.com/l/_n9jRg3ao9nHs
https://dl.doubtnut.com/l/_0Pfoq4iZ6LP5
https://dl.doubtnut.com/l/_iaZJ4exrXwFb

186. Explain the construction of periods in Modern

periodic table.

o Watch Video Solution

187. Define ionization energy.Explain on which the

ionization energy depends on .

o Watch Video Solution

188. What is the need to classify elements ?

o Watch Video Solution



https://dl.doubtnut.com/l/_iaZJ4exrXwFb
https://dl.doubtnut.com/l/_zBGr8r7y9rb0
https://dl.doubtnut.com/l/_ufT0FLJEX8kP
https://dl.doubtnut.com/l/_cVpAbMxLrcVj
https://dl.doubtnut.com/l/_SXyW30p3mmaH

189. The electrons configuration of atom A'is 2,8,6

What is the atomic number of element A ?

o Watch Video Solution

190. The electrons configuration of atom Ais 2,8,6
stable whether the atomic size of element A is bigger or

smaller than the atom having atomic number 14 . Why ?

o Watch Video Solution

191. The electrons configuration of atom Ais 2,8,6
Which of the elements exhibits similarity in chemical

properties as elements AO(8),C(6) ,N(7) ,AR (18 ) .Why ?



https://dl.doubtnut.com/l/_SXyW30p3mmaH
https://dl.doubtnut.com/l/_N6yANfQ4U9BK
https://dl.doubtnut.com/l/_V2HBW5JKQ0p8

o Watch Video Solution

192. The electrons configuration of atom Ais 2,8,6

How the element is formed inert gas configuration ?

o Watch Video Solution

193. Write the elements in the ascending order of their

atomic radii

2nd period elements | B Be 0 M Li [ €
Atomic radii BE | 111 | 66| 74 | 152| 77

o Watch Video Solution



https://dl.doubtnut.com/l/_V2HBW5JKQ0p8
https://dl.doubtnut.com/l/_KTSoGgQsQ6S3
https://dl.doubtnut.com/l/_8d3sGF4NkfY3

194. Which of the 2nd period elements closer to the

configuration of inert gas?

2nd period elements | B Be 0 N Li| C
Atomic radii BB | 111 | 66| 74 151[ 77

o Watch Video Solution

195. Some elements belonging to second period of
periodic table , and their atomic radii are given below

.Observe them and write answers .

“geperiodelements B Be | O | N | Li c
" Atomic radii 88 11l 86 74 152 77

which is the outermost orbit of alll these elements ?

o Watch Video Solution



https://dl.doubtnut.com/l/_b78cmTFYp8zS
https://dl.doubtnut.com/l/_UrQtBSrvkR7e
https://dl.doubtnut.com/l/_lgXaI8u0zSKE

196. Mendeleeff classified the known 63 elements in the
form of a periodic table. Mention any two things that
benefitted study of chemistry, to support above

statement.

o Watch Video Solution

197. Two elements X and Y belong to Groups 1 and 2
respectively in the same period of the periodic Table
.Compare these elements with respect to :

Number of electrons in their outermost orbit .

o Watch Video Solution



https://dl.doubtnut.com/l/_lgXaI8u0zSKE
https://dl.doubtnut.com/l/_oWg7ZrcOmxMt

198. Two elements X and Y belong to Groups 1 and 2
respectively in the same period of the periodic Table
.Compare these elements with respect to :

Their atomic size and their valancies .

° Watch Video Solution

199. Two elements X and Y belong to Groups 1 and 2
respectively in the same period of the periodic Table
.Compare these elements with respect to :

their ionisation energy and metallic character .

° Watch Video Solution



https://dl.doubtnut.com/l/_aRxf4s7zDERr
https://dl.doubtnut.com/l/_U3jVYehxhuYk

200. Two elements X and Y belong to Groups 1 and 2
respectively in the same period of the periodic Table
.Compare these elements with respect to :

Formula of their chlorides and sulphates .

o Watch Video Solution

201. What is a group?

o Watch Video Solution

202. What is a period in modern periodic table ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Qu5UVfXJl8mK
https://dl.doubtnut.com/l/_SHqRVIms82e2
https://dl.doubtnut.com/l/_GMzHxQVYvq33

203. Why were Dobereiner , Newlands and Mendeleeff not
100 % successful in their classfication of elements ? Why
is the modern table table relatively a better classification

? Predict the reason .

° Watch Video Solution

204. How can you say that the group of chlorine (35.5),

Bromine(80) and lodline (127.0) is a Dobereiner triad ?

° Watch Video Solution

205. Based on the arrangement of elements, one scientist

has predicted about new elements. Who is he ? Which


https://dl.doubtnut.com/l/_NrkmRQAPfFEk
https://dl.doubtnut.com/l/_ZmcmB1XqhE2w
https://dl.doubtnut.com/l/_YB0VmWh4DVlJ

elements are they ?

o Watch Video Solution

206. Why was the 101th element names as Mendelevium ?

o Watch Video Solution

207. who proposed law of traids ?

o Watch Video Solution

208. Can we know the atomic radius of an element ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YB0VmWh4DVlJ
https://dl.doubtnut.com/l/_XKF5OaCcamHB
https://dl.doubtnut.com/l/_y5WBuDjvIYiW
https://dl.doubtnut.com/l/_mPQhUuxUzhha

209. Generally, which type of character the metals shows ?

° Watch Video Solution

210. Define the mordern periodic law . Discuss the

construction of the long form of the periodic table .

o Watch Video Solution

211. Why was the basis is classificatons of elements

changed from the atomic mass to the atomic number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mPQhUuxUzhha
https://dl.doubtnut.com/l/_YWAtRUeoI4NQ
https://dl.doubtnut.com/l/_cL46hfRE5MM0
https://dl.doubtnut.com/l/_bdARQp6fmSsf

212. How do you appreciate the role of electronic
configuration of the atoms of elements in periodic

classification ?

o Watch Video Solution

1. Number of elements present in period - 2 of the long

form periodic table

A2

B.8

C.18


https://dl.doubtnut.com/l/_agNScCfyT2jC
https://dl.doubtnut.com/l/_AzAi13HE6uiK

D. 32

Answer:

o Watch Video Solution

2. Nitrogen (Z=7) is the element of group V of the periodic
table. Which of the following is the atomic number of the

next element in the group ?

A9

B.14

D. 17


https://dl.doubtnut.com/l/_AzAi13HE6uiK
https://dl.doubtnut.com/l/_n6q6rOQQoIlO

Answer:

o Watch Video Solution

3. Electonic configuration of an atom is 2,8,7, . To which of

the following elements would would it be chemically

similar ?

A. Nitrogen (Z=7)

B. Fluorine (Z=9)

C. Phosphorous (Z=15)

D. Argon (Z=18)

Answer:



https://dl.doubtnut.com/l/_n6q6rOQQoIlO
https://dl.doubtnut.com/l/_lzLaeOUK9t0p

{ " vvalli vidCo >0I1utLion )|

4. Which of the following is the most active metal ?

A. Lithium

B. Sodium

C. Potassium

D. Rubidium

Answer:

o Watch Video Solution

5. Which of the following element is belongs to 3 period

and also a 17 (VIIA) group ?


https://dl.doubtnut.com/l/_lzLaeOUK9t0p
https://dl.doubtnut.com/l/_ifwuhLd3pDal
https://dl.doubtnut.com/l/_EaMGtUcfXgy2

A. Fluorine

B. Bromine

C. Oxygen

D. Chlorine

Answer:

o Watch Video Solution

6. Which of the following element belongs to the 4 period

and IV B group ?

A. Titanium

B. Beryllium


https://dl.doubtnut.com/l/_EaMGtUcfXgy2
https://dl.doubtnut.com/l/_m8xStb5gvfSr

C. Tungsten

D. Niobium

Answer:

o Watch Video Solution

7. Electron affinity values of halogens are measured in

A.Kiol_2
m
B. K/) mol
C. Kjmol 1
K

D. —mol !

J

Answer:


https://dl.doubtnut.com/l/_m8xStb5gvfSr
https://dl.doubtnut.com/l/_33XQqt0u8qwS

o Watch Video Solution

8. Which of the following elements are generally semi-

conductors ?

A.Si

B. Ge

C.B

D. all

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_33XQqt0u8qwS
https://dl.doubtnut.com/l/_eTEBTPXGkvaW

9. Which group elements are called halogen family ?

A. 17(VIIA)

B. 18(VIIIA)

C. 15(VA)

D. 16(VIA)

Answer:

o Watch Video Solution

10. In modern periodic table each periodic ends with

A. Non-metals


https://dl.doubtnut.com/l/_YrQ6Q2rbKGsM
https://dl.doubtnut.com/l/_tkDwQ6qgvQmw

B. Noble gases

C. Metals

D. Metalloids

Answer:

° Watch Video Solution

11. Who noted that there were groups of elements with

three elements known as traids in each groups ?

A. Dobereiner

B. Moselery

C. Mendeleeff


https://dl.doubtnut.com/l/_tkDwQ6qgvQmw
https://dl.doubtnut.com/l/_s4t9RoX2mAa8

D. Joseph Louis Froust

Answer:

o Watch Video Solution

12. Which of the following element family belongs to 16

(VIA) Group ?

A. Carbon family

B. Oxygen family

C. Boron family

D. Nitrogen family

Answer:


https://dl.doubtnut.com/l/_s4t9RoX2mAa8
https://dl.doubtnut.com/l/_newk5mDoXybE

o Watch Video Solution

13. Which block elements are called the inner transition

elements ?

A. p-block

B. d-block

C. f-block

D. s-block

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_newk5mDoXybE
https://dl.doubtnut.com/l/_vuKBhASzS8F4

14. Which group elements are called Boron family ?

A. 1311l A)

B. 14(IV A)

C.2(I1 A)

D.1(1 A)

Answer:

o Watch Video Solution

15. Which of the following group elements are called alkali

metal family ?


https://dl.doubtnut.com/l/_SKeuml8pFq7s
https://dl.doubtnut.com/l/_cwPw6laq0ham

A (1A)

B. (VI A)

C. (VI A)

D. (VI A)

Answer:

o Watch Video Solution

16. Which block elements are called as transition metals ?

A. p - block

B.d - block

C. f-block


https://dl.doubtnut.com/l/_cwPw6laq0ham
https://dl.doubtnut.com/l/_uPwe3PIUmkTV

D. s- block

Answer:

o Watch Video Solution

17. According to which of the following characteristic of

an element the modern periodic table is proposed ?

A. Atomic number

B. Valency

C. Symbol

D. Atomic weight

Answer:


https://dl.doubtnut.com/l/_uPwe3PIUmkTV
https://dl.doubtnut.com/l/_ceseeZhZ6I0z

o Watch Video Solution

18. Which of the following property is measured in 'pm’

(pico meter) units ?

A. Electron affinity

B. lonisation energy

C. Atomic radius

D. Electronegativity

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ceseeZhZ6I0z
https://dl.doubtnut.com/l/_AUzXFmDH5FCy

19. Which of the following group elements are nitrogen

family ?

A. 14 (IV A)

B.15 (V A)

C.16 (VI A)

D.1(IA)

Answer:

° Watch Video Solution

20. By analysing which patterns the modern periodic table

is proposed ?


https://dl.doubtnut.com/l/_EbtxJJqUUShm
https://dl.doubtnut.com/l/_YVBJ2srWMqGf

Ao —ray

B.8 — ray

C.gamma - ray’

D.X-ray"

Answer:

o Watch Video Solution

21. Which of the following are elements belongs to (VIII A)

group ?

A. Chalcogen

B. Halogen


https://dl.doubtnut.com/l/_YVBJ2srWMqGf
https://dl.doubtnut.com/l/_brihNhtK8uTM

C. Alkali metal

D. Noble gases

Answer:

o Watch Video Solution

22. What is the general electronic configuration of Noble
gases?

A ns2np3

B. nsznp5

C. ns2np6

D. ns2np4


https://dl.doubtnut.com/l/_brihNhtK8uTM
https://dl.doubtnut.com/l/_dUI0fIplH4iF

Answer:

° Watch Video Solution

23. In which units ionizations energy can be expressed ?

A. KJmol 1

B. %mol_1

C. JKmol !

D. —mol !

J

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dUI0fIplH4iF
https://dl.doubtnut.com/l/_8D5vHN8nZK0i
https://dl.doubtnut.com/l/_MOVUWDgieOJ4

24. Which of the following is defined as the number of

positive charges in the atom of element ?

A. Atomic weight

B. Atomic number

C. Atomic radius

D. Valency

Answer:

° Watch Video Solution

25. Which block elements are called representative

elements ?


https://dl.doubtnut.com/l/_MOVUWDgieOJ4
https://dl.doubtnut.com/l/_kNJvHDbmi0Hn

A.p - block

B.s - block

C.AandB

D. d- block

Answer:

o Watch Video Solution

26. As we move from top to bottom in a group the

metallic character :

A. Increase

B. Remains constant


https://dl.doubtnut.com/l/_kNJvHDbmi0Hn
https://dl.doubtnut.com/l/_hX1CAeZMBkSG

C. Decrease

D. None

Answer:

o Watch Video Solution

27. The elements which have properties that are
intermediate between the properties of metals and non -

metals are called

A. Semi-conductors

B. Semi-metals

C. Metalloids


https://dl.doubtnut.com/l/_hX1CAeZMBkSG
https://dl.doubtnut.com/l/_xwHJVozNwUtT

D. All

Answer:

° Watch Video Solution

28. Who arranged the elements in a chart in the

systematic order in the increasing order of their atomic

weights

A. Mendeleeff

B. Newlands

C. Moseley

D. Dobereiner


https://dl.doubtnut.com/l/_xwHJVozNwUtT
https://dl.doubtnut.com/l/_wSMHSmx2C0Xu

Answer:

° Watch Video Solution

29. For which of the following need more ionization

energy to remove an electron ?

A.m+3

B.m+2

Cm+4

D.m+1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wSMHSmx2C0Xu
https://dl.doubtnut.com/l/_Xqu6fseaG1h7

30. Which of the following is not a Dobereiner Triad

A. Li, Na, K
B.Cl, Br, |
C. Ca,Sr, Ba

D.B,Be, C

Answer:

° Watch Video Solution

31. The following are not try to arrange elements.

A. Dobereiner


https://dl.doubtnut.com/l/_Xqu6fseaG1h7
https://dl.doubtnut.com/l/_nWAV8b3t5rZO
https://dl.doubtnut.com/l/_fvNS0ipEXFT5

B. Newlands

C. Pauling

D. Mendeleeff

Answer:

° Watch Video Solution

32. The modern periodic table is organized on the basis of

A. Atomic radius

B. Atomic mass

C. Atomic number

D. Density


https://dl.doubtnut.com/l/_fvNS0ipEXFT5
https://dl.doubtnut.com/l/_5VmkVHe4llzT

Answer:

° Watch Video Solution

33. Gallium is named by Mendeleeff as

A. Eka boron

B. Eka aluminium

C. Eka silicon

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5VmkVHe4llzT
https://dl.doubtnut.com/l/_CeZvJ0lSBVWd
https://dl.doubtnut.com/l/_Q5uolpfUSuME

34.C| belongs to......family.

A.noble gas

B. carbon family

C. halogen

D. boron

Answer:

o Watch Video Solution

35. By which units atomic radius is measured ?

A.pm

B.cm


https://dl.doubtnut.com/l/_Q5uolpfUSuME
https://dl.doubtnut.com/l/_WTz007LTg4sW

Answer:

° Watch Video Solution

36.Cl size is......... than Cl ion.

A. More

B. Less

C. Equal

D. None

Answer:


https://dl.doubtnut.com/l/_WTz007LTg4sW
https://dl.doubtnut.com/l/_q8X6x6TCuYTC

o Watch Video Solution

37.1F........... IE,.

D. none

Answer:

° Watch Video Solution

38. The unit for ionisation energy is


https://dl.doubtnut.com/l/_q8X6x6TCuYTC
https://dl.doubtnut.com/l/_i5IgxlqeFtGD
https://dl.doubtnut.com/l/_xwlxzirteFIN

A Erg

B. K]

C. KJmol !

D. Moles

Answer:

o Watch Video Solution

39. The following is metalloid.

A. Silicon

B. Na

C. Carbon


https://dl.doubtnut.com/l/_xwlxzirteFIN
https://dl.doubtnut.com/l/_rgewQePvEMOS

D. Fe

Answer:

o Watch Video Solution

40. Which one of the following elements has more

electropositivity ?

A. Chlorine

B. Carbon

C. Oxygen

D. Potassium

Answer:


https://dl.doubtnut.com/l/_rgewQePvEMOS
https://dl.doubtnut.com/l/_1FwqdxBvFcWX

o Watch Video Solution

41. Number of vertical columns in the modern periodic

table are  (As per IUPAC notation).

A7

B.8

C.10

D. 18

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1FwqdxBvFcWX
https://dl.doubtnut.com/l/_jciRJAa3DVrd

42. Mendeleev's eka-aluminiumis _

A. Scandium

B. Galium

C. Germanium

D. Indium

Answer:

o Watch Video Solution

43.Cl belongsto  family.

A. Noble gas


https://dl.doubtnut.com/l/_Pk84hM8qXv4f
https://dl.doubtnut.com/l/_QT8bSIVcrlCA

B. Boron

C. Carbon

D. Halogen

Answer:

° Watch Video Solution

44.Number of elements present in Period 1 are ...

A2

B.4

C.6

D.8


https://dl.doubtnut.com/l/_QT8bSIVcrlCA
https://dl.doubtnut.com/l/_TBlws939sel5

Answer:

o Watch Video Solution

45. Choose the correct answer for the following matching.

Group - A Group - B
1) Alkali metal { )} P) Calcium
2} Chalcogen { } Q) Potassium
3) Alkaline earth

metal { ] R} Sulphur

A.1-Q,2-R,3-P
B.1-Q,2-P3-R
C.1-P2-0,3R

D. 1-P,2-R,3-Q


https://dl.doubtnut.com/l/_TBlws939sel5
https://dl.doubtnut.com/l/_1pfCzZ4mGiQ1

Answer:

o Watch Video Solution

46. Match the following:

Element

1) Na

2) Al

3) Se

4) Ce

A. 1-a,2-b,3-c,4-d

B. 1-d,2-c,3-b,4-a

C. 1-a,2-¢,3-b,4-d

D. 1-d,2-c,3-a,4-b

Block
a) f
b) d

cl p
d) s



https://dl.doubtnut.com/l/_1pfCzZ4mGiQ1
https://dl.doubtnut.com/l/_N2b8Pbqd9sl9

Answer:

o Watch Video Solution

47. Which is not true about noble gases ?

A. They exist in atomic form

B. They are radioactive in nature

C. They are non-metallic in nature

D. Xenon is the most reactive among these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_N2b8Pbqd9sl9
https://dl.doubtnut.com/l/_KOQ2Ja9OrDqX
https://dl.doubtnut.com/l/_qD0JzeOPS3FM

48. The electronic configuration of the first artifical

element.........
A 4f*5d'6s!
B. 475d%6s>
C.5f%6d!7s?

D.5f%6d7s>

Answer:

° Watch Video Solution

49, What type of oxide would Eka-aluminium form ?

A. E302


https://dl.doubtnut.com/l/_qD0JzeOPS3FM
https://dl.doubtnut.com/l/_n5e0nlPq1E1L

B. E,Os

C. EO;

D.EO

Answer:

° Watch Video Solution

50. Which of the following statements is not correct ?

A.Third period in the periodic table can have a

maximum of eighteen elements.

B.Some compounds of the noble gas xenon are

known.


https://dl.doubtnut.com/l/_n5e0nlPq1E1L
https://dl.doubtnut.com/l/_2OApYWgYCYBY

C. Group | elements are called alkali metals.

D. The last member of the halogen family is Astatine.

Answer:

o Watch Video Solution

51. Point out the correct statement

A. In a period have same gaps of atomic numbers

B. In a group have same gaps of atomic masses.

C.In a group have same atomic sizes.

D. In a group have definite gapsof atomic numbers.

Answer:


https://dl.doubtnut.com/l/_2OApYWgYCYBY
https://dl.doubtnut.com/l/_lG2EE9c0qz3k

o Watch Video Solution

52. Which is not the characteristic of a period ?

A.The elements present have same valence shell

electronic configuration of atoms.

B. The elements present do not have same atomic size.

C.The chemical properties of the elements are not

similar.

D. The physical properties of the elements are not

similar.

Answer:



https://dl.doubtnut.com/l/_lG2EE9c0qz3k
https://dl.doubtnut.com/l/_SWMRVwv1Xk2Z

{ " vvali vidCo S0I1UtLion )|

53. Which defect of Mandeleeff's periodic table is

automatically overcome by shifting the basis from atomic

number ?

A. Position of isotopes

B. Placing coinage metals along with alkali metals

C. Position of hydrogen

D. All the above

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SWMRVwv1Xk2Z
https://dl.doubtnut.com/l/_HNfmdWDoqDiR

54. Which of the following indicates the correct order of

variation in atomic size ?

A.Be<C<F < Ne

B.Be>C>F < Ne

C.Be>C>F>Ne

D.F<Ne<Be<C

Answer:

° Watch Video Solution

55. Choose the correct answer for the following matching


https://dl.doubtnut.com/l/_4FieacaJoCZk
https://dl.doubtnut.com/l/_ZBIHNCNlr3Nf

i) 8-soverlap ( ) a)x-bond
il) 5 - p overlap { 1 b} H, molecule
iii} p - p overlap { ) ¢} HC
' maolecule
v} Linear {1 Cl,
molacule

A l-a,ii-b,iii-c,iv-d

B.I-b,ii-c,iii-d,iv-a

C.1-d,ii-c,iii-b,iv-a

D.l1-a,ii-d,iii-civ-b

Answer:

o Watch Video Solution

56. Elements belonging to the same period have


https://dl.doubtnut.com/l/_ZBIHNCNlr3Nf
https://dl.doubtnut.com/l/_abt8In5Jqp73

A. Same valency electrons

B. Same under of shells

C. Same atomic size

D. Same electron affinity

Answer:

o Watch Video Solution

57. The scientist who made maximum contribution

towards periodic table was

A. Thomson

B. Bohr


https://dl.doubtnut.com/l/_abt8In5Jqp73
https://dl.doubtnut.com/l/_elALWsFW9HVQ

C. Sommerfeld

D. Mendeleeff

Answer:

o Watch Video Solution

58. Which of the following sets of atomic numbers
corresponds to the atomic numbers of inert gases
belonging to periods which contain 4d and 5d transition
series ?

A. 56,85

B. 55,87

C. 54,86


https://dl.doubtnut.com/l/_elALWsFW9HVQ
https://dl.doubtnut.com/l/_CHoukSwTXdr2

D. 36,54

Answer:

° Watch Video Solution

59. Atomic numbers of last elements of 'd' block and p

block of incomplete period assuming that the period is

completed.

A 111,117

B. 112,118

C. 80,86

D. 36,54


https://dl.doubtnut.com/l/_CHoukSwTXdr2
https://dl.doubtnut.com/l/_tb9eq3TZgFUJ

Answer:

o Watch Video Solution

60. The outermost shell of a representative element
contains x electrons and penultimate shell contains Y

electrons. The number of valence electrons could be.........

Ay-X

B.y

D.x+y

Answer:



https://dl.doubtnut.com/l/_tb9eq3TZgFUJ
https://dl.doubtnut.com/l/_1kY6Z9fGTeBZ

{ " vval vidCo S0I1UtLion )|

61. Which of the following statements about the modern
periodic table are incorrect ?

(@) The elements in Modern periodic table are arranged
on the basis of their decreasing atomic number.

(b) The elements in Modern periodic table are arranged
on the basis of their increasing atomic masses.

(c) Isotopes are placed in adjoining groups in the periodic
table.

(d) The elements in the modern periodic table are

arranged on the basis of their increasing atomic number.

A.d

B.a,b,c


https://dl.doubtnut.com/l/_1kY6Z9fGTeBZ
https://dl.doubtnut.com/l/_tjgKyDfWQ52M

D.ab,d

Answer:

o Watch Video Solution

62. Choose the right properties of periodic table.

(@) Atomic radius increases from top to bottom along a
group.

(b) Atomic radius decreases from left to right along a
period.

(c) Valency remains the same in a group.

(d) lonisation energy increases on moving down a group.


https://dl.doubtnut.com/l/_tjgKyDfWQ52M
https://dl.doubtnut.com/l/_MaFilVaxg0SD

A.d

B.b,c

C.a,b,c

Answer:

o Watch Video Solution

63. Which of the following species does have electrons

equalto18?(a) K (b) Cl~ (c) Ca™2(d) K

B.a,b


https://dl.doubtnut.com/l/_MaFilVaxg0SD
https://dl.doubtnut.com/l/_ndFSNMzVkl4U

C.d

D.ab,c

Answer:

o Watch Video Solution

64. Pick out the correct statements about chlorine atom.
(a) Chlroine is more electronegative atom

(b) Chlorine atom belongs to Halogan family

C) Its valency is +2

(d) The atomic number is chlorine is 17

B.ab,c


https://dl.doubtnut.com/l/_ndFSNMzVkl4U
https://dl.doubtnut.com/l/_hUb8BS0xkc9w

C.ac

D.ab,d

Answer:

o Watch Video Solution

65. What are the elements that belonged to 18th (or) 'O’

group ? (a) Helium (b) Neon ( c ) Fluorine (d) Xenon

A ab

B.ab,c

C.abd

D.c


https://dl.doubtnut.com/l/_hUb8BS0xkc9w
https://dl.doubtnut.com/l/_btltxT1mKcnL

Answer:

o Watch Video Solution

66. Electronic configuration from ns? np' to np® np® are
called

A. s-block elements

B. p-block elements

C. d-block elements

D. f-block elements

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_btltxT1mKcnL
https://dl.doubtnut.com/l/_m9SMKJhbGnKr

B.10 2

c.10~13

D.10 '8

Answer:

o Watch Video Solution

68. block elements are called as lanthanides and

actinides in modern periodic table.


https://dl.doubtnut.com/l/_m9SMKJhbGnKr
https://dl.doubtnut.com/l/_epoiypjB9089
https://dl.doubtnut.com/l/_js9iAzsxxlEt

B.p

C.f

D.d

Answer:

o Watch Video Solution

69. "The law states hat the physical and chemical
properties of the elements are periodic functions of their

atmic weights ".

A. Mosley's periodic law


https://dl.doubtnut.com/l/_js9iAzsxxlEt
https://dl.doubtnut.com/l/_ACZ7ErMKUwIL

B. Mendeleeff's periodic law

C. Newlands's periodic law

D. Proust's periodic law

Answer:

° Watch Video Solution

70. VI A group elements are called chalcogens. This is

because

A. They are available in earth crust

B. They are ore forming elements

C. They are salt forming elements


https://dl.doubtnut.com/l/_ACZ7ErMKUwIL
https://dl.doubtnut.com/l/_JEvKT4y1QQd0

D. They are available in native state

Answer:

° Watch Video Solution

71. The general electronic configuration of d-block

elements is

A. nsl — ns2

B.ns? — nsznpl
C.(n —1)d' — b5ns' — 2

D.(n — 1)c' — 10ns* — 2

Answer:


https://dl.doubtnut.com/l/_JEvKT4y1QQd0
https://dl.doubtnut.com/l/_ZprhDFIYECCK

o Watch Video Solution

72. The size of anion is more than neutral atom. This is

due to

A. More nuclear charge in anion than neutral atom

B. Less nuclear charge in anion than neutral atom

C. More number of protons in anion

D. Less number of electron in neutral atom

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZprhDFIYECCK
https://dl.doubtnut.com/l/_BkosFdczwrd0

73. Which of the following is correct with respect to size ?

A. AtomltAnionltCation

B. AnionltAtomltCation

C. CationltAtomltAnion

D. CationltAnionltAtom

Answer:

° Watch Video Solution

74.M " + IE, =M "%(g)+e~ This represents

A. Electron affinity


https://dl.doubtnut.com/l/_tJelImnjZvg3
https://dl.doubtnut.com/l/_JIyWYtYjF4cv

B. lonizationi energy

C. Second ionization energy

D. Electrongativity

Answer:

° Watch Video Solution

75.1n a period, L.E increases due to

A. Increase in number of shells

B. Increase in atomic size

C. Decrease in nuclear charge on valence electrons

D. Increase in nuclear charge on valence electrons


https://dl.doubtnut.com/l/_JIyWYtYjF4cv
https://dl.doubtnut.com/l/_TZGZ0PibZm5I

Answer:

o Watch Video Solution

76.The L.E of 'N' is more than oxygen even though the size

of 'O' is less than 'N'. This is due to

A. Half-filled configuration in 'N’

B. Half-filled configuration in 'O’

C. Full-filled configuration in 'N'

D. Full-filled configuration in 'O’

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TZGZ0PibZm5I
https://dl.doubtnut.com/l/_TkoALLq7U6R1

77.The formula of chloride formed by eka silicon

A. ESCl2

B. ESCl4

C. ESClg

D. ESCZG

Answer:

° Watch Video Solution

78. Which of the following atomic numbers belongs to

same period ?


https://dl.doubtnut.com/l/_TkoALLq7U6R1
https://dl.doubtnut.com/l/_43A4ip0qOKZK
https://dl.doubtnut.com/l/_MQcFZZ3InKGz

A. 56,7

B.13,5

C.24,6

D.9,17,35

Answer:

o Watch Video Solution

79. The size of Na ™ is less than 'Na' . This is due to

A. More nuclear charge in Na™*
B. More electronegativity in Na *

C. Less nuclear charge in Na ™


https://dl.doubtnut.com/l/_MQcFZZ3InKGz
https://dl.doubtnut.com/l/_fjbfJK8DazOY

D. More electronegativity in Na

Answer:

o Watch Video Solution

80. Which pair of elements are lanthanides ?

A. Pa, Pu

B. Pm, Sm

C.Re,Rh

D. Ag, Hg

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fjbfJK8DazOY
https://dl.doubtnut.com/l/_FjWPRDR0GjYm

81. Arrange the following elements in the order of their

decreasing metallic character Na, Si, Cl, Mg, Al

A.Na > Mg > Al > Si > Cl

B.Cl > Si> Al > Mg > Na

C.Al>Na>Si>Cl>Mg

D.Na > Al > Mg > Cl > Si

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FjWPRDR0GjYm
https://dl.doubtnut.com/l/_vTnB2YY2GKh9

82. Arrange the following elements in the order of their

increasing non-metallic character Li, O,C, Be, F

A.F<O<C<Bec<lLi

B.F<C<O<Becx<li

C.Li<Be<C<O«F

D.F<O<Be<Cc«<lLli

Answer:

° Watch Video Solution

83. Which of the following elements gives the correct

increasing order of the atomic radii of O)F and N ?


https://dl.doubtnut.com/l/_ZW6cSUyMkWkz
https://dl.doubtnut.com/l/_Z55jf2Sx4HAQ

A.F,ON

B. O,F,N

C.N,F,O

D. O,N,F

Answer:

o Watch Video Solution

84. Which of the following reasons corresponds to

decrease in IP value from top to bottom in a group ?

A. Increase in screening effect

B. Increase in atomic number


https://dl.doubtnut.com/l/_Z55jf2Sx4HAQ
https://dl.doubtnut.com/l/_UywL38W4a1KW

C. Decrease in screening effect

D. Decrease in nuclear charge

Answer:

o Watch Video Solution

85. Nuclear charge increase both in a period and group.

But, effective nuclear charge increase in a period and

decreases in a group. Identify the correct reverse trend.

A. Role of inter electronic repulsions

B. Reverse trend of metallic character

C. Role of screening effect


https://dl.doubtnut.com/l/_UywL38W4a1KW
https://dl.doubtnut.com/l/_ZmvzgGApvsMQ

D. Reverse trend of atomic size

Answer:

o Watch Video Solution

86. Nitrogen (Z=7) is the element of group V of the
periodic table. Which of the following is the atomic

number of the next element in the group ?

A9

B.14

D. 17


https://dl.doubtnut.com/l/_ZmvzgGApvsMQ
https://dl.doubtnut.com/l/_rLhhk6WIDNwy

Answer:

° Watch Video Solution

87. Which of the following group elements are called alkali

metal family ?

A. (1A)

B. (VIA)

C. (VIIA)

D. (VIIIA)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rLhhk6WIDNwy
https://dl.doubtnut.com/l/_FFdUJkrGGA5d

88. An element M, is in the 13th group, the formula of its

chloride is

A. MCI

B. MCl,

C. MCl,

D. M20l3

Answer:

° Watch Video Solution

89. Which of the following sets does not belong to a

group ?


https://dl.doubtnut.com/l/_FFdUJkrGGA5d
https://dl.doubtnut.com/l/_JQDianQyXkG8
https://dl.doubtnut.com/l/_KaVgvZFaAx7L

A. Ne, Ar, kr

B. Na, K, Rb

C.B, Al, Ga

D. Mg, Al, Ca

Answer:

o Watch Video Solution

90. Which is the wrong sequence of the elements in a

group ?

A.N,P, As

B. Ca, Sr, Ba


https://dl.doubtnut.com/l/_KaVgvZFaAx7L
https://dl.doubtnut.com/l/_G8sEhMx7duJ1

C. CuAu, Ag

D. Cl,Br, |

Answer:

o Watch Video Solution

91. Which of the following sets of elements belongs to

alkali metals ?

A.37]9,3,55

B. 1,12,30,4,62

C. 12,20,56,88

D.9,17,35,53


https://dl.doubtnut.com/l/_G8sEhMx7duJ1
https://dl.doubtnut.com/l/_iwCmwSzJ85Pf

Answer:

° Watch Video Solution

92. The outermost main shell of an element is 'M' shell.

This element belongs to __ period.

Al

B. 2

C.3

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iwCmwSzJ85Pf
https://dl.doubtnut.com/l/_rziey2NSCvgZ

93. Which of the following is an element in 3"d period I

group

A. Mg

B. Cl

C.Ca

D.K

Answer:

o Watch Video Solution

94. Actinides belongs to __ period.


https://dl.doubtnut.com/l/_rziey2NSCvgZ
https://dl.doubtnut.com/l/_ZxGGRINYQywE
https://dl.doubtnut.com/l/_DtnkYhmDbojy

A.Si

B. Ga

C.Pb

D. Al

Answer:

o Watch Video Solution

95. The electronegativity of the following elements

increase in the order

A.N,Si,C,P

B. P,Si,N,C


https://dl.doubtnut.com/l/_DtnkYhmDbojy
https://dl.doubtnut.com/l/_FPjp2ftx82gu

C.CN,Si,P

D. Si,P,C,N

Answer:

o Watch Video Solution

96. The incompletely filled period is

A5

B.7

C. 4

D.6

Answer:


https://dl.doubtnut.com/l/_FPjp2ftx82gu
https://dl.doubtnut.com/l/_FoL27VX7XhsT

o Watch Video Solution

97. The element for which the electronic configuration

does not justify its inclusion in a block is

A. Ca

B. Li

C.He

D. Be

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FoL27VX7XhsT
https://dl.doubtnut.com/l/_jYGyWAQfr8wX

98. lonization energy increases with the Increase of

A. Nuclear charge

B. Atomic radius

C. Screening effect

D. None

Answer:

° Watch Video Solution

99. Newlands' periodic table restricted to __ elements.

A. 56


https://dl.doubtnut.com/l/_et28U87VJmjQ
https://dl.doubtnut.com/l/_ChhkeUifzEtB

B. 55

C.50

D. 59

Answer:

o Watch Video Solution

100. Electronic configuration from ns? np' to np? np® are
called

A. s-block elements

B. p-block elements

C.d-block elements


https://dl.doubtnut.com/l/_ChhkeUifzEtB
https://dl.doubtnut.com/l/_vz8CZOOuhOLr

D. f-block elements

Answer:

o Watch Video Solution

101. s and p-block elements are called

A. Representative elements

B. Transition elements

C. Inner transition elements

D. Zero group elements

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vz8CZOOuhOLr
https://dl.doubtnut.com/l/_OAMku3cp8NvE

102. Valency of chlorine is

Al

B. 2

C.3

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OAMku3cp8NvE
https://dl.doubtnut.com/l/_PSPSYEjycSDa
https://dl.doubtnut.com/l/_b7S6wxkrU7G0

A10° 1

B.10 2

c.10713

D.10°8

Answer:

o Watch Video Solution

104. The most electronegative element is

A. Chlorine

B. Nitrogen

C. Fluorine


https://dl.doubtnut.com/l/_b7S6wxkrU7G0
https://dl.doubtnut.com/l/_sm8Mm6bxxnC6

D. Oxygen

Answer:

o Watch Video Solution

105. The most electropositive element is

A. Hydrogen

B. Fluorine

C.Barium

D. Casium

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sm8Mm6bxxnC6
https://dl.doubtnut.com/l/_88FImnVZZ5yq

106.  is lIA group element.

A. Sodium

B. Magnesium

C.Boron

D. Carbon

Answer:

o Watch Video Solution

107. Noble gas elements has valency


https://dl.doubtnut.com/l/_88FImnVZZ5yq
https://dl.doubtnut.com/l/_w4B18v6xU4qS
https://dl.doubtnut.com/l/_wJB4mBllGvzr

A0

B.1

C.2

D.3

Answer:

o Watch Video Solution

108. __ block elements are called as lanthanides

and actinides in modern periodic table.

B.p


https://dl.doubtnut.com/l/_wJB4mBllGvzr
https://dl.doubtnut.com/l/_2iDQgCviqGB3

C.f

D.d

Answer:

o Watch Video Solution

109. was the basis of the classifications proposed

By Dobereiner , Newlands and Mendeleeff .

A. Atomic number

B. Atomic weight

C. Structure of atom

D. Electronic configuration


https://dl.doubtnut.com/l/_2iDQgCviqGB3
https://dl.doubtnut.com/l/_HlMzYDQx2LAe

Answer:

o Watch Video Solution

110. The element at the bottom of a group would be

expected to show metallic charcter than the

element at the top .

A. low

B. high

C. medium

D. none

Answer:



https://dl.doubtnut.com/l/_HlMzYDQx2LAe
https://dl.doubtnut.com/l/_CB6uUdFT10vj

{ " vval vidCo >0I1ution

111. Law of traids was proposed by.......

A. Johann Wolfgang Dobereiner

B. Moseley

C. Mendeleeff

D. John Newlands

Answer:

° Watch Video Solution

112. Law of traids was proposed by.......


https://dl.doubtnut.com/l/_CB6uUdFT10vj
https://dl.doubtnut.com/l/_GDOdCfXseKkA
https://dl.doubtnut.com/l/_qrKM6LjBPHz3

A. Johann Wolfgang Dobereiner

B. Moseley

C. Mendeleeff

D. John Newlands

Answer:

o Watch Video Solution

113. Law of octaved holds good only for the elements

A. Hydrogen

B. carbon


https://dl.doubtnut.com/l/_qrKM6LjBPHz3
https://dl.doubtnut.com/l/_6LrGEnCg5e5L

C. calcium

D.argon

Answer:

o Watch Video Solution

114. The name of 101th elements is__

A. borolinium

B. lanthanivium

C. mendelivium

D. scandinavium

Answer:


https://dl.doubtnut.com/l/_6LrGEnCg5e5L
https://dl.doubtnut.com/l/_Pg5EVe3hEiDO

o Watch Video Solution

115. The physical and chemical properties of an atom

depends on its

A. atomic number

B. atomic weight

C. atomic volume

D. size of the atom

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Pg5EVe3hEiDO
https://dl.doubtnut.com/l/_IcbscOCjRVKY

116. Number of elements in 6th period of modern periodic

table is

A. 28

B. 18

C.8

D. 32

Answer:

o Watch Video Solution

117.4f elements are called



https://dl.doubtnut.com/l/_ZgbPRHaehg0n
https://dl.doubtnut.com/l/_qVk0sjzObrpE

A. s-block

B. transition

C. inner transition

D. inert gases.

Answer:

o Watch Video Solution

118. The atomic radius of Cl than Cl~ atom.

A. lesser

B. greater

C. equal



https://dl.doubtnut.com/l/_qVk0sjzObrpE
https://dl.doubtnut.com/l/_q8LFkJQxFgG6

D. does not exist

Answer:

o Watch Video Solution

119. In which units ionizations energy can be expressed ?

A.J/m

B. K.J. mol

C. J.mol

D. KJ. mol !

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_q8LFkJQxFgG6
https://dl.doubtnut.com/l/_Y7Gzss27v4tD

120. Metals are at side of the periodic table.

A. left

B. top

C. bottom

D. right

Answer:

o Watch Video Solution

121. .......... elements were discovered up to 1865.


https://dl.doubtnut.com/l/_Y7Gzss27v4tD
https://dl.doubtnut.com/l/_urn7RJdsCp3w
https://dl.doubtnut.com/l/_gYqlM9ypm0vL

A. 65

C.2

D.15

Answer:

o Watch Video Solution

122. Newlands octaves first element resembles

A. 2nd element

B. 8th element

C. 3rd element


https://dl.doubtnut.com/l/_gYqlM9ypm0vL
https://dl.doubtnut.com/l/_CrFz2LApCj6a

D. 7th element

Answer:

o Watch Video Solution

123. Vertical clumns of Mendeleeff are called

A. groups

B. periods

C. blocks

D. elements

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CrFz2LApCj6a
https://dl.doubtnut.com/l/_vdIRc4BHOEiT

124. The number of sub-groups in each group of

Mendeleeff's periodic table is

Al
B.3
C.2

D.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vdIRc4BHOEiT
https://dl.doubtnut.com/l/_zcCZqjiWzNV1

125. ... eal€ @nomalous  pair

Mendeleeff's periodic table.

A. Cobalt, Tungsten

B. Cobalt, Nickel

C. Nickel, Tungsten

D. Tungsten, Nickel

Answer:

of elements in

° Watch Video Solution

126. Modern periodic table consists of

and groups.

periods



https://dl.doubtnut.com/l/_oXPoVyF8d8Xb
https://dl.doubtnut.com/l/_8MENhGbtPhBj

A. 7,16

B.7,18

C. 18,7

D. 16,7

Answer:

o Watch Video Solution

127. 1st period contains......... elements.

A.18

B.8

C.2


https://dl.doubtnut.com/l/_8MENhGbtPhBj
https://dl.doubtnut.com/l/_0B2sjcQ8umPh

D.10

Answer:

° Watch Video Solution

128. The elements with three or less than three electrons

in the outer shell are considered as

A. metals

B. gases

C. non-metals

D. liquids

Answer:


https://dl.doubtnut.com/l/_0B2sjcQ8umPh
https://dl.doubtnut.com/l/_PseY0BxP39bd

o Watch Video Solution

129. The elements which have properties that are
intermediate between the properties of metals and non -

metals are called

A. metalloids

B. solids

C. liquids

D. gases

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PseY0BxP39bd
https://dl.doubtnut.com/l/_Vc0q5IodW3jA
https://dl.doubtnut.com/l/_eV4n3Wdf4AQF

130. of an element was defined as combining

power of an element with respect of hydrogen and

oxygen.

A. Oxidation

B. Reduction

C. Valence

D. Reactivity

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eV4n3Wdf4AQF

131. Atomic radii of elements.....across a period from left

to right.

A. decrease

B. increase

C.no change

D. can't say

Answer:

° Watch Video Solution

132. The relative tendency of its atom to attract electrons

towards it when it is bounded to the atom of another


https://dl.doubtnut.com/l/_5t54Hf2xwI8m
https://dl.doubtnut.com/l/_w91zVPIqX988

element is called

A. Electron affinity

B. electropositivity

C. electrol negativity

D. lonization energy.

Answer:

o Watch Video Solution

133. The metallic character

character along a period.

A. decrease,increase

while non metallic


https://dl.doubtnut.com/l/_w91zVPIqX988
https://dl.doubtnut.com/l/_fIRLsDGJE8Tt

B. increase,decrease

C.increase,increase

D. decrease,decrease

Answer:

o Watch Video Solution

134.Si and Ge are

A. metals

B. non-metals

C. metalloids

D. liquids


https://dl.doubtnut.com/l/_fIRLsDGJE8Tt
https://dl.doubtnut.com/l/_OQWfe0gENK1A

Answer:

° Watch Video Solution

135. Which pair of elements belongs to the same group ?

(atomic numbers are given)

A. 17,38

B. 20,40

C. 17,53

D. 11,53

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OQWfe0gENK1A
https://dl.doubtnut.com/l/_ODlwEuBBfIwB

136. 02-2 is isoelectronic with

A. H,

B. IV,

D.S

Answer:

° Watch Video Solution

137. Highest I.P is for

A Lit


https://dl.doubtnut.com/l/_ODlwEuBBfIwB
https://dl.doubtnut.com/l/_CaKBZ9hAFvel
https://dl.doubtnut.com/l/_CAj0JDl0g8CW

B. Mg*2
C.Al"3

D. All have equal values

Answer:

o Watch Video Solution

138. Electron affinity of Fluorine is less than that of

Chlorine because

A. smaller size of Cl

B. larger size of Cl

C.smaller size of F


https://dl.doubtnut.com/l/_CAj0JDl0g8CW
https://dl.doubtnut.com/l/_8XVlStjzqRfl

D. larger size of F

Answer:

o Watch Video Solution

139. Which is the strongest base ?

A.BeO

B. MgO

C. Al203

D. 510,

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8XVlStjzqRfl
https://dl.doubtnut.com/l/_iRIKHhvLDP6j

140. Amphoteric oxide is

A. Na20

B. MgO

C. A1203

D. P,Os

Answer:

o Watch Video Solution

141. Highest oxidation state of +8 is given by


https://dl.doubtnut.com/l/_iRIKHhvLDP6j
https://dl.doubtnut.com/l/_iRkpk6sy4mP2
https://dl.doubtnut.com/l/_thfuKmMpnhl6

A. Os

B. Ru

C. Xe

D. All

Answer:

o Watch Video Solution

142. The most common oxidation state of Lanthanide is

A +2

C. +4


https://dl.doubtnut.com/l/_thfuKmMpnhl6
https://dl.doubtnut.com/l/_frIs5aILoxzM

D. +1

Answer:

o Watch Video Solution

143. In the sixth period, the orbitals being filled with

electrons are

A. 5s, 5p, 5d

B. 6s,6d, df

C. 6s,5f,df,dp

D. 6s,4f,5d,6f

Answer:


https://dl.doubtnut.com/l/_frIs5aILoxzM
https://dl.doubtnut.com/l/_WXcVHZ12UFTS

o Watch Video Solution

144. Which species has the maximum ionic radius ?

A. Na +
B.O 2
C.F

D. Mg™"2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WXcVHZ12UFTS
https://dl.doubtnut.com/l/_pQ2QVZvpFDpc

145. The decreasing order of second ionisation potential

of K, Ca, Ba is

A. KgtCagtBa

B. CagtBagtK

C. BagtKgtCa

D. KgtBagtCa

Answer:

° Watch Video Solution

146. Highest covalent character is found in


https://dl.doubtnut.com/l/_feZQ55DJDDd4
https://dl.doubtnut.com/l/_MdCfad314NA4

A. CCLFQ

B. CCLCl2

C.CaBr,

D. C’al2

Answer:

o Watch Video Solution

147. An element with atomic number 20 will be placed in

which period of the periodic table?

A. 4th period, 2nd group

B. 2nd period, 14th group


https://dl.doubtnut.com/l/_MdCfad314NA4
https://dl.doubtnut.com/l/_RIewcmODZj4i

C. 3rd period, 3rd group

D. 3rd period, 13th group

Answer:

o Watch Video Solution

148. In inner transition elements, the differentiating

electron enters into the........

A. p-sub level

B.d - sub level

C. f-sub level

D.s - sub level


https://dl.doubtnut.com/l/_RIewcmODZj4i
https://dl.doubtnut.com/l/_ZLTapqzuM1ak

Answer:

° Watch Video Solution

149. The maximum atomic radius exists for

AP

B. Mg

C.Al

D. Si

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZLTapqzuM1ak
https://dl.doubtnut.com/l/_T2pC5T3Vfh8g
https://dl.doubtnut.com/l/_uPUsDKyxXGGg

150. Na™, Mg?> +, Al® +, Si* + are isoelectronic.
Their ionic size following the ordre........

A.Na+ < Mg*>+ < AP 4+ < Si* +

B.Na™ Mg? < AP + < Si* +

C.Na® < Mg®> + > AP + > Si* +

D.Na® > Mg* + > AP + > Si* +

Answer:

° Watch Video Solution

151. The starting element in any period the periodic table


https://dl.doubtnut.com/l/_uPUsDKyxXGGg
https://dl.doubtnut.com/l/_nUBGrPbOxTYK

A. An alkali metal

B. A transitional metal

C. Metalloid

D. A non-metal

Answer:

o Watch Video Solution

152. The ending element in any period in the periodic

table is............

A. An alkali metal

B. A transitional metal


https://dl.doubtnut.com/l/_nUBGrPbOxTYK
https://dl.doubtnut.com/l/_eF9ZaohRTcyb

C. an inner transition metal

D. a noble gas

Answer:

o Watch Video Solution

153. The general electronic configuration of elements of p-

block is represented by

A. ns1 — ns2

B.ns? — np6
C. ns2np1to nsznp6

D. (n — 1)d* — 10ns’ — 2


https://dl.doubtnut.com/l/_eF9ZaohRTcyb
https://dl.doubtnut.com/l/_rKDj6oRtff8H

Answer:

o Watch Video Solution

154. In a table of elements, each element has similar
properties with eighth element. Which law do they obey?

Who found it ?

o Watch Video Solution

155. Which period starts with M main shell? Name the
sub-shells in it? How many elements are there in this

period ? Name any two elements in it ?

o Watch Video Solution



https://dl.doubtnut.com/l/_rKDj6oRtff8H
https://dl.doubtnut.com/l/_kqBbjvcZ9Lj0
https://dl.doubtnut.com/l/_Bn6gOpKhEKu9

156. Which is easy to remove electron between the
element having electronic configuration of

1s22s22p* and 1s5%25%2p>? Why ?

o Watch Video Solution

157. For a element, the value of electron gain enthalpy is
positive. Which type of element it may be ? What this

value is positive ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Bn6gOpKhEKu9
https://dl.doubtnut.com/l/_R8Z82iyAIflB
https://dl.doubtnut.com/l/_YoWwbHddVF9Q

158. Element with electronic configuration
15225%22p°35%3p°3d 1% 45%4p54d 5% 5p° belongs to the
........... group of the periodic table

A.3rd

B. 5th

C.7th

D. 2nd

Answer:

° Watch Video Solution

159. The element with atomic number 7 is found in


https://dl.doubtnut.com/l/_DMK6dgKSw6mm
https://dl.doubtnut.com/l/_JTQxtvrZiCQy

A. 1st period IA group

B. 2nd period VA group

C. 2nd period IlIA group

D. 2nd period IVA group

Answer:

o Watch Video Solution

160. Moseley calculated the number of positive charges in

the atoms by analysing their .

A. X-ray patterns

B. line spectrum


https://dl.doubtnut.com/l/_JTQxtvrZiCQy
https://dl.doubtnut.com/l/_Vrqo2CfgOP7N

C. chemical properties

D. a-ray patterns

Answer:

o Watch Video Solution

161. Elements with electronic configuration ns' and ns?

are called
A. p-block elements
B. s-block elements
C. d-block elements

D. f-block elements


https://dl.doubtnut.com/l/_Vrqo2CfgOP7N
https://dl.doubtnut.com/l/_tgNmv8XC0xOi

Answer:

o Watch Video Solution

162. Atomic weight =

A. Equivalent weight x valency

Equivalentweight

Valency

C. Equivalent weight + valency

D. Equivalent weight

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tgNmv8XC0xOi
https://dl.doubtnut.com/l/_Cgw4nRFjyTpK
https://dl.doubtnut.com/l/_87MtJNo2aZVR

163. No. of groups in modern periodic table........

A. 16

B. 20

C.24

D. 18

Answer:

o Watch Video Solution

164. According to Mulliken, electronegativity =

I. E+E A
A. 5

B.I.LE+ E.A


https://dl.doubtnut.com/l/_87MtJNo2aZVR
https://dl.doubtnut.com/l/_ZowvTrHswfp9

C.2(L.E. + E.A)

D.2lLE+ EA

Answer:

o Watch Video Solution

165. Elements from _°2 Ce to

A. lanthanides

B. actinides

C. inert gases

D. transition elements

"' Lu are called


https://dl.doubtnut.com/l/_ZowvTrHswfp9
https://dl.doubtnut.com/l/_FxkTWpD6kqkf

Answer:

° Watch Video Solution

166. Correct order of size

AT>IT""I7

B.I "I>1I"

CI™ >I71

D.I7IT>T"

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FxkTWpD6kqkf
https://dl.doubtnut.com/l/_MmgExZ626Hat
https://dl.doubtnut.com/l/_B1JePo3cd5XI

167. Electron affinity of Fluorine is less than that of

Chlorine because

A. smaller size of Cl

B. larger size of Cl

C.smaller size of F

D. larger size of F

Answer:

° Watch Video Solution

168. In dobereiner triad, the atomic weight of middle

element is :


https://dl.doubtnut.com/l/_B1JePo3cd5XI
https://dl.doubtnut.com/l/_qY0wR7vinB8c

A. Sum of atomic weight of two elements

B. Product of atomic weight of two elements

C. Average of atomic weight of two elements

D. Ratio of atomic weight of two elements

Answer:

o Watch Video Solution

169. Which of the following relation is correct ?

A. Atomic weight = Equivalent weight x Valency

B. Atomic size = Equivalent weight x Valency

C. Equivalent weigth x Valency


https://dl.doubtnut.com/l/_qY0wR7vinB8c
https://dl.doubtnut.com/l/_KfLQu4tdBKis

D. All the above

Answer:

o Watch Video Solution

170. 5f elements are called............

A. Actinides

B. Lanthanides

C. Transition elements

D. Representative elements

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_KfLQu4tdBKis
https://dl.doubtnut.com/l/_yE9tr78XC4Ey

171. Periodicity is observed in periodic table due to

reappearance of similar valency shell configuration after

regular interval of

A.1,3,5,7,9

B. 2,8,8,18,18,32

C. 5,10,15,20,25

D. 20,30,40,50

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yE9tr78XC4Ey
https://dl.doubtnut.com/l/_TsEcsfpyPuTU

172. The formula of oxides and chloride of Eka-Silicon is

A. ESO,, ESCI,

B. E5203, ESCl4

C. ESO, and ESCI,

D. ESO, ESCl,

Answer:

o Watch Video Solution

173. Which block the element having 1s22s?2p* beongs to

Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RIrEt50gdENf
https://dl.doubtnut.com/l/_OTvMQTZSU51Q

174. Which elements are called p-block elements ?

o Watch Video Solution

175. What is the valency of IVA group elements with

respect to hydrogen ?

o Watch Video Solution

176. Because of screening effect, the ionization energy

becomes less. Explain it with an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_OTvMQTZSU51Q
https://dl.doubtnut.com/l/_mxVbm4TiO9U5
https://dl.doubtnut.com/l/_ZQEaj2lXQIHH
https://dl.doubtnut.com/l/_HFb1K8png2DI

177. "The properties of elements are the periodic

functions of their atomic masses"

A. Dobereiner traid

B. Newland's law of octaves

C. Mendeleeff's periodic law

D. Bohr's model

Answer:

° Watch Video Solution

178. Write few sentences about Newland's law of octaves.

The elements present on the right side of the modern


https://dl.doubtnut.com/l/_TtNEO6mGqYlE
https://dl.doubtnut.com/l/_JahZPRsiChnD

periodic table known as.

A. Metals

B. non-metals

C. metalloids

D. None of these

Answer:

o Watch Video Solution

179. Electron gain enthalpy is known as

A. valence

B. lonization energy


https://dl.doubtnut.com/l/_JahZPRsiChnD
https://dl.doubtnut.com/l/_rbPI9hl2s9SU

C. electron affinity

D. electronegativity.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rbPI9hl2s9SU

